1 2 3 4 5 6 /

9 10

This document is the property of Hatteland Technology AS.
This document and any authorized reproduction thereof, must not be used in

r
any war against the inYerest of Hatteland Technology AS.
w

Any authorized reproduction, in whole or in part, must include this legend.

SIDE VIEW (w/Panel Cutout)

BACK VIEW (w/Panel Cutout)

description

55 inch Console mounting profile 4

55 inch Console mounting profile 5

55T22 Console Bezel, Alu.5052

Set screw socket M6 x 65

- A2

ISO 7040 M6 - A4 --- Prevailing torque type hexagon Nut M6 - A4

Screw Panhead torx M5x20 A4 SS ISO

7045 (DIN 7985)

M5 - DIN 127 B - Spring lock washer with flat ends

Skive DIN125 M 5,3

Skrue Torx DIN965 M4x16 A4 Stainless Steel

Panskrue DIN7985 M6x20 sort el

Spring Lock Washer DIN127 M6 Stainless Steel (144 061x118x16 A4)

DIMETRIC VIEW

BOTTOM VIEW (w/Panel Cutout)

[T . . . o . . . "]
— —
: ‘

TOP VIEW (w/Panel Cutout)

N B

External Tactile Display Controls (TDC)

240.00/9.45|

FRONT VIEW

on/off

- 48.00 1.89/-
O
- 45.001.77| -

S TOP VIEW

230.00/9.06 |
26.00 1.02.
Q% 15 pin connector %
not shown

s

o -
Lil

492 0,19

—— -

- 1346,83 53,02 - 7 24.0000.94]
75,00 2,95 - I

‘ =] =Tl Toteens
> =) & J2418,3 scws Dnt 135
. ™~ 9 141145 040X016 TA4
%h 8B 10 4 XX95
§ g I 110,55 [4,35} 11 4| 144 B06 SS
G = = |~ min. thickness of the unit

% S with console mounting system

| J

1209604762 - —~—up to 35mm - thickness of the Console

35.00 1.38

- 1355,00 53,35 -
o = -
1u m:" <
AN
“ I° 9,
N 50 :@ o o
Do e S
o I, LO
. : oo
G S 6 o D \
- 1298,1/51,11] =
- 1260,0/49,61 -
215,9/8,50 = -
240,0 9,45 = - —
260,0(10,24| = - o
)
N
: N o
’ x
20x ©7,5/0,30] THRU ALL
— 0 |
NS ‘
8 &
[@)) o
Ko o
g B o PANEL CUTOUT ,
8
4 xR5,0/0,20] <,
- O S
“~ N

- T77.94 3.07 —

i)

26.88/1.06|

232.0019.13

37.00 1.46

PANEL CUTOUT

R2.00/0.08]

Units: mm [inches]

Panel thickness - 0 up to 35mm — o -
(optionally - when mounting brackets flipped 35mm to 65mm) it S MG e 4 ¥£ CT HTNEOL L%I\(I;B
SALES DRAWING HD 55T22 MVD-MA1-COTP (Console) a0 - e | |EHD [ [s ] TS
—— 1 88 [007] ’W’ & H_atteland Technology AS Tolerance Approved by: Revision:
shown in this drawing, but measurements generally apply for all HD 55T22 MVD-MAx-COTx models. 4 Sikeskogvegen 52 sogssg | T -
‘ 8 ‘ 9 ‘ 10 11 12

1 ‘ 2 ‘ 3 ‘ 4 ‘ 5 ‘ 6 7




